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Q.1 ‘Mg A5 3 H SiTehl’ Aerifwh 1 Tl oref arar @2
Ans X 1.TE H IR IART AT

o 2. AT Sl TR GEdT
X 3. 9T A a1t & Ufd TR
< 4. =TT DA a1l TV T&AT AT

Question ID : 26433094364
Status : Answered
Chosen Option : 2

Q.2 §ar+ (1) wet Frepre (2) Eenst 9 (3) ou= g1U U (4) | URga Wi a1 | are’a §Xa=T ol 9@t
SR T gRI?

Ans X 1.431.2
X 2.1432
X 3.3412
o 4.1342

Question ID : 26433094387
Status : Answered
Chosen Option : 4

Q.3 fA=fafae d | sreuwmor =i wib-a1 82
Ans X 1.3

K29

X 3a

& 4T

Question ID : 26433094430
Status : Answered
Chosen Option : 4
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Q.4 ‘ggr fae & arex Rever areg d &i9-91 RS 82
Ans o 1. 3MUrEE

X 2. d9ueH

< 3. arfdepor

&5 4. BT

Question ID : 26433094318
Status : Answered
Chosen Option: 1

Q.5 et Y 3R T -4 2reg g T &2
Ans X 1. 3iTeRien

5 2. 3udeg

o 3. FfRe

X 4. dhepor

Question ID : 26433094458
Status : Answered
Chosen Option : 3

Q.6 Y+ g21 Y AT & -3 2reg TAM?
Ans X 1. @0mr

X 2. U

o 3. FUlY

X 4. i

Question ID : 26433094356
Status : Answered
Chosen Option : 3

Q.7 ‘UehIUH’ ® hIF-TT 99T &7
Ans X 1.fz1

X 2355

o 3. sy

X 4. aegew

Question ID : 26433094468
Status : Answered
Chosen Option: 3
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Q.8 wRE[E (1) & (2) ¥R (3) FY (4) Frewe (5) Ta (6)1 vRga Eiea arerr | oo T (1) ik (2) &
qTE, ATeRT T T Tl shid T gIT?

Ans ' 1.6,4,3,5
< 2.3,56,4
< 3.53,6,4
X 4.6,4,53

Question ID : 26433094490
Status : Answered
Chosen Option : 1

Q.9 ‘wrreE’ foheenT fawiw 2res &2
Ans X 1.3

X 2. 3o/

«* 3. oo

X 4 dR

Question ID : 26433094342
Status : Answered
Chosen Option : 3

Q.10 F=fafEa # 9 wi9-a1 arer g5 82
Ans X 1. " fohait el ot TgT TS
o 2. &9 fhaa e T U2
< 3. & fohm el Y g U
& 4. g8 foham el Y e U

Question ID : 26433094310
Status : Answered
Chosen Option : 2

Q.11 ‘f3ferar &1 aga== «=n gm?
Ans X 1. TSR

X 2.3
o 3. fefaat
X 4. fSfrarart

Question ID : 26433094316
Status : Answered
Chosen Option : 3
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Q.12 ‘Wer o1 a9t |@fY-fawde = g?
Ans o 1 T+

K2, AN

X3+

X 4. T+ g

Question ID : 26433094464
Status : Answered
Chosen Option: 1

Q.13 ‘gafgarHt fi gf® @ wi=-uar gm gafea a8 82
Ans o 1.0 - gfgar

5 2. 57T - &k

< 3.9R - Avm

X 4. 7 — Fefesr

Question ID : 26433094340
Status : Not Answered
Chosen Option : --

Q.14 gsdier (1) e 7€ (2) geaeh (3) I (4) | U @iea arer & a1y S==T o1 |gl shA o
ghm?

Ans o 1.4,1,32
X 2.241,3
xX3.431,2
X 4.1,3,4,2

Question ID : 26433094494
Status : Answered
Chosen Option: 1

Q.15 ‘ag ugdT &' a1 o et hiI-I-9T 872
Ans X 1. gof adee

75 2. G R

o 3. 9 adaH

< A, Archifcres aaHT

Question ID : 26433094326
Status : Answered
Chosen Option : 3
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Q.16 ‘it FeheaHT STAR T &' AT & fg Yah 2reg orT ghm?
Ans o 1. @7l

X 2. sfogs

< 3. arfdehr

X 4. ufderdy

Question ID : 26433094462
Status : Answered
Chosen Option : 1

Q.17 ‘Sit ehgT T4 @' arerTien & fI Ueh 2reg o 87
Ans X 1.4ufsa

X 2. vepiira

X 3. fofea

o 4.5

Question ID : 26433094352
Status : Answered
Chosen Option : 4

Q.18 F=faf@a & @ wia-u e g &2
Ans X 1. TSl T SIgT 3@

o 2. OO IR SIgT 3@l

2 3. TS IR 91gT |

X 4. TSI T G A

Question ID : 26433094414
Status : Answered
Chosen Option : 2

Q.19 ‘gt fohe uehRR a1 faLivor g2
Ans o 1.70TdTEh

X 2. grdta

2< 3. gReUTEtas

X 4. G=EarEas

Question ID : 26433094312
Status : Answered
Chosen Option: 1
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Q.20 ehiferars (1) &1 (2) AT (3) - (4) &1 (5) foRet (6) 1 v @f3e arer A s &=t (1) 3R (2)
o ITE ITeRT TG hT gl sh o1 gIIT?

Ans X 1.4356
X 2.4536
X 3.6534
o 4.4653

Question ID : 26433094378
Status : Answered
Chosen Option : 4

Q.21 ‘ohg @4 hl, G @icig 6’ Fitenifwh @1 Tgl srf Far g2
Ans o 1. g1 TS T 3R THST TS TN

2 2. St gt T, IEY FEE W

X 3.3 THeT | g1 S

X 4. T gl 3R g

Question ID : 26433094472
Status : Answered
Chosen Option : 1

Q.22 ‘gar aga R st 31’ v & forar fgioor @ 32
Ans X 1.dr

o 2.9gd

X 3. et

X 48

Question ID : 26433094436
Status : Answered
Chosen Option : 2

Q.23 gg AT R dharet a1 Reh w1 & g Iugeh 2reg o/ gim?
Ans X 1.g7d

o 2.9¢

X 3. g

X 4. ghd

Question ID : 26433094332
Status : Answered
Chosen Option : 2
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&1 s == & forg Sugrh 2res o/ ghm?

Q.24 39 99T WR # =T
Ans o 1.1

X 2.7st
X 3. forr
P x|

Question ID : 26433094440
Status : Answered
Chosen Option: 1

Q.25 F=fafEa § 9 wF-a1 arer g &2
Ans o 1. 3R @M @I B

X 2. 3iRd @ @t 8l

X 3. ofkd @FT Wi 81

X 4. ofid @ @

Question ID : 26433094308
Status : Answered
Chosen Option : 1

Q.26 f=faf@a & @ wia-d forar dromefa forar &2
Ans X 1.SFET

& 2@

X 3. de

F 4. fSar

Question ID : 26433094422
Status : Answered
Chosen Option : 4

Q.27 e (1) & (2) a9 (3) St (4) 1 vga @fa arerr & arery ST T Ul shA R ghIm?
Ans X 1.4,2,3,1

o 2.1,3,4,2

< 3.1,4,23

X 4.3,4,2,1

Question ID : 26433094492
Status : Answered
Chosen Option : 2
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Q.28 &t (1) =t (2) fafay & (3) =<t (4) & (5) foreh (6) 1 vRge @ifea ararr # e T (1) 8k (2)
o d1¢ TRy TXEAT T Gl shH T g7

Ans X 1.356,4
o 2.3645
X 3.4563
X 4.36,54

Question ID : 26433094380
Status : Answered
Chosen Option : 2

Q.29 Fr=fafE@a # & s auf wi=-a1 8?
Ans X 1.¢

2.9

X 3.4

~ 4T

Question ID : 26433094432
Status : Answered
Chosen Option : 2

Q.30 F=fafEa d 9 wi9-a1 arer g 82

Ans X 1.9 udtenait & arenw B g =g
2 2. g udrenaft Y A B g =Ry
X 3. gur udtenadt <y wem B @ =R
o 4. g udensit o Arew B g Al

Question ID : 26433094416
Status : Answered
Chosen Option : 4

Q.31 ‘dfere foraent faeiiw aree 82
Ans X 1. dfera

o 2. fasgd

X 3. afasmifs

X 4. ufera

Question ID : 26433094450
Status : Answered
Chosen Option : 2
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Q.32 F=fafEa 4 9 Fi9-a1 a3 82
Ans X 1. 98 S-St B A gt

o 2. I8 S-S IR H g

2 3. 98 =Xf-ed R H g

< 4. T8 S-St R A gt

Question ID : 26433094412
Status : Answered
Chosen Option : 2

Q.33 F=fafEa 4 9 «9-a1 are g 82
Ans X 1. 3Jg <N KT gl &7

75 2. ag <N )T Fgd 87

25 3. 3 & T hgaT 87

o 4.3 AN T g &2

Question ID : 26433094302
Status : Answered
Chosen Option : 4

Q.34 =& (1) Fgeht (2) & (3) R (4) 1 wga Wiz arerr § a1y WA 1 T A T ghm?
Ans X 1.4,23/1

X 22314

o 3.1423

X 41432

Question ID : 26433094384
Status : Answered
Chosen Option : 3

Q.35 fA=faf@a d @ wia-ar e aew 7181 87
Ans X 1.9%h

X 2.9%
o 3.7
X 4T

Question ID : 26433094456
Status : Answered
Chosen Option: 3

Q.36 F=fafEa # 9 wi9-41 2 Shfen &2
Ans X 1.97

K 2.9

o 3.5
< 4. =Rt

Question ID : 26433094428
Status : Answered
Chosen Option : 3
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Q.37 ‘SSM bl gl S-f=de o gvm?
Ans X 1.98+ 39

25 2. 9C + 3=
< 3. 93 + oA

o 4. T + 37

Question ID : 26433094358
Status : Answered
Chosen Option : 4

Q.38 ‘uafy’ &Y R @ wi=-u1 gw gafaa adi 82
Ans X 1.7 - HaIfhRAT

X 2. aeEadt - ARt

o 3. T -~ St

< 4. gedt — gar

Question ID : 26433094448
Status : Answered
Chosen Option : 2

Q.39 fA=faf@a d @ &F-ar1 21 ‘ufa’ &1 yafgerh &2
Ans X 1. femar

o 2. ot
X 3.fay
X 4. vt

Question ID : 26433094446
Status : Answered
Chosen Option: 2

Q.40 F=fafEa # 9 wie-a1 arer g 82

Ans X 1. e # A & & Sfa gul
o 2. fondhe & gl & & Sfta g8
25 3. fondhe # gARY &9 a1 Sita geml
7< 4. fondhe & gt dm F S g2

Question ID : 26433094304
Status : Answered
Chosen Option : 2

Q41 sFATEeIR___ R Res w1 & o Suges 2res o ghm?
Ans X 1.3@

X 2. firr
25 3.3arR
o 4.3

Question ID : 26433094442
Status : Answered
Chosen Option : 4
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Q.42 ‘3TReRT aga vt g g1’ are | forar fgioor @ar 82
Ans X 1.8

o 2.9ga

2< 3. SrTfEEA

KA. FoAdt

Question ID : 26433094328
Status : Answered
Chosen Option : 2

Q.43 ‘gfes aohet g o1 & fArg Iugh HgTerT =T 82
Ans X 1.7 R

X 2. TR ST

o 3. T dor

< 4. T ST

Question ID : 26433094470
Status : Answered
Chosen Option : 3

Q.44 fafaf@a 7 @ wa- forar dromefa forar &2
Ans X 1.9MT

25 2. dten

o 3. YeTT

X 4. o

Question ID : 26433094314
Status : Answered
Chosen Option : 3

Q.45 ‘Rfsar 1 aga== @ar ghm?
Ans X 1. Rfsd

o 2. fafsat

< 3. Rafsarer

X 4 fafsa

Question ID : 26433094424
Status : Answered
Chosen Option : 2

Q.46 ‘G’ &1 gl |fY-faede o ghm?
Ans o 1. T+

X 2. 9g+ e

X 3 ga+yd

X 4w+ g

Question ID : 26433094466
Status : Answered
Chosen Option: 1
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Q.47 78 e (1) 9 (2) 9g7ea (3) A9 (4) 1 wga e area & ara de==T1 1 gt R T gir?
Ans X 1.4231

X 2.3214
X 3.1,423
o 4.432,1

Question ID : 26433094386
Status : Answered
Chosen Option : 4

Q.48 ‘G MY a9 & U’ aATeRT T 1ol hI-TT 87
Ans X 1. 99 wiiss

X 2. g wiasy
o 3. 8degra vflaw
< A, Q=g gdETE

Question ID : 26433094330
Status : Answered
Chosen Option : 3

Q.49 f=fafEa d & w9-a1 ar g &2
Ans X 1. dg 31T 3|

25 2.3 SHTST S

" 3. T8 TSI ST

25 4. Y 31T |

Question ID : 26433094410
Status : Answered
Chosen Option : 3

Q.50 ‘Sit <h¥ ST &' areriel & fT U 2ree 82
Ans X 1.9g9

o 2. 3T

X 3.9

X 4. wEw

Question ID : 26433094460
Status : Answered
Chosen Option : 2

Q.51 Tet Fi gfe @ wi=-ar 21eg g 8 82
Ans X 1. ffoa

X 2.
o 3. snfasr
X< 4T

Question ID : 26433094350
Status : Answered
Chosen Option: 3
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Q.52 ‘"eHY e ueR o1 fagior g2
Ans X 1. uRmromEites

< 2. G

X 3. gt

o 4. TUTEaTIh

Question ID : 26433094420
Status : Answered
Chosen Option : 4

Q.53 fA=faf@a d @ aga e Fr 8?
Ans X 1.0

& 2. Fra
X 3.38
X 4 Ffr

Question ID : 26433094454
Status : Answered
Chosen Option : 2

Q.54 fafaf@a d & w9-a1 a g 82
Ans o 1. 873 I fheTd g oft &
X 2. 83 3 I fonardl g R 1
X 3. F AT frard ug & &)
X 4.8 3 I fovere ug ot &1

Question ID : 26433094306
Status : Answered
Chosen Option : 1

Q.55 ‘sria’ ferrept wafaaTs &2
Ans X 1.9

o 2. ST

X 3. 9ea

X 449z

Question ID : 26433094336
Status : Answered
Chosen Option : 2

Q.56 F=fafEa & 9 wi9-1 arer g 82
Ans X 1. 3xd o afear g iE)

o 2. P o1 ST I T

2 3. Tz & i Iug M

X 4. T i I IuE TE|

Question ID : 26433094418
Status : Answered
Chosen Option : 4
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Q.57 ‘A2 UG T@T &' dATeRT hT eIl T &2
Ans X 1. 9fqry adae

o 2. dTchITereh adaT

X 3. guf g

X 4. 9= aduH

Question ID : 26433094434
Status : Answered
Chosen Option : 2

Q.58 F=ifaf@a # & sty gof wiw-ar &2
Ans X 1.9
o 2.9
X 3T
Xo4g

Question ID : 26433094324
Status : Answered
Chosen Option : 2

Q.59 f=fafEa d @ wi-ar o ‘g &1 vafgardt 82
Ans o 1. 9705
X 2.
X< 3.3
&< 4. afea

Question ID : 26433094338
Status : Answered
Chosen Option : 1

Q.60 ‘Frent 5= i gan &' ameraiar & g e orez 82

Ans o 1. 35T
25 2. SRSt

X 3. sus

X 4 g

Question ID : 26433094354
Status : Answered
Chosen Option : 1

Q.61 ‘At & uehten e a1 & g Sugh qeTawT T 82
Ans o 1. 9feal e

252, M SaTT
X 3. 7 fae
< 4. e R @

Question ID : 26433094362
Status : Answered
Chosen Option: 1
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Q.62 ‘TSI | hI-9T 9AI 82
Ans o 1.9l

X 2%

X 3.1a1

5 4. Sregdt v

Question ID : 26433094360
Status : Answered
Chosen Option : 1

Q.63 fAAfafEa & & w9-97 21 aeqw g 87
Ans X 1.778%

X 2. e

o 3.7ig

X 4. M=

Question ID : 26433094348
Status : Answered
Chosen Option : 3

Q.64 ‘GRTaT fohent faetie 2reg 82
Ans X 1. uriE

o 2.7

X 3. 7R

25 4. mgd

Question ID : 26433094344
Status : Answered
Chosen Option: 2

Q.65 ST EN gE™l h Rl _____ gi? s == & forg Sugeh 2res o ghm?
Ans X 1.8

X 2. thepa

X 3. rsd

¥ 4.7

Question ID : 26433094334
Status : Answered
Chosen Option : 4
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Comprehension:

AT TS T faemre aoft g & 5ia 3= araeh fR1er ugor i &)1 R & off e <t foras wR gftura
&t gauYH AR gfeuy # afte-arrer Y fRrem Y of we uRafed gid &, Stet a8 3w &t e &
foh ot Ugfal 7 st Y T Wfad ot SRt ufaer & smemR R SRt IufRAfa gt off arerf ag &
o5 BTt Y TaTerehaT U A8l Sifig TunTeeRar tR e T Srar e

frfafed ueil & 3= Sud merier & SaR W S

SubQuestion No : 66
Q.66 TEgHe # fheehT AT @ STTaT UT?
Ans X 1. gexdr e
& 2. TUTaIT Al
< 3. TGS FI

< 4. g @t

Question ID : 26433094390
Status : Answered
Chosen Option : 2

Comprehension:

HTa GATST Al [enre i) Tvia & ST 39 aach f1eT 7801 &Y gt R # +ff f1er et qoren w gfeurd
& A AU §R 3fPuY # Afen-arret <t e Y B Toe uRafad gt 8, STef 98 d& & e g
foh Togpe Ugla # sl eht Tivem Hifea ot 3T UfareIT 3 SR WR Sl IUFATT gt oft | I a8 8
for BT i H=ATHeRdT UR 8! SHfUg uTTeHehaT UR &1 T ST o

frfefed veit & SR Sudh Terier & SuR W S

SubQuestion No : 67
Q.67 Txeh A1 o1 /T SN &2
Ans o 1.3 e

25 2. coaantaes ferm
2< 3. sftu=es fvem
25 4. aritoaes frem

Question ID : 26433094393
Status : Answered
Chosen Option : 1

Comprehension:

ATa FATST Al fenrer a+f) Tv1a & STa 9= s et 781 Y gt 9Ra 7 off e it qores w gfeurd
& dt gavem gAR gfRuy # dften-ahrer Y fRien i o we uRafea gid &, Siet a8 3w & e &
foh et ugfal A st &t T Wi ot SR ufae & smeR R St IufRAfT gt off e ag &
for BT AT TR UR A8} S oA UR €T T ST o

fferEa usif & SR ST eI & SR W &IfSg-

SubQuestion No : 68
Q.68 Twghel | fArsl & Ta= T STYUR a7 UT?
Ans X 1.9189
X 2. 9a
& 3. ufaa

X 4wy

Question ID : 26433094391
Status : Answered
Chosen Option : 3
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Comprehension:

AT THTS T faehre it Tea & 5ie I8 TrIeh =181 TgUT Al 811 R # T e <At 7ora= wR gfeura
R gduaH gR gfPuYy § dfier-ahrer i fRren < ofd T uRkafera gkt &, S8t ag 3w &l e g
o ot ugfa A frsat Y e Hfaa ofti SR ufaen & smemr wR SR IufRAfa gt oft arerf 7 &
for BT hl HeATHeRdT WR @1 AU TUTTcHehaT UR &1 e ST |

frffed veit & ST= Sud e & SaR W S

SubQuestion No : 69
Q.69 &g ugfa & fAsai Fi Tz =t gidt oft?
Ans X 1.709
o 2.9
X 3. 9gd s
&K 4.5

Question ID : 26433094389
Status : Answered
Chosen Option : 2

Comprehension:
ATE GATST T [enrer a8 Tvia & 519 9= awach f1eT 7801 Y g1 TRa 7 +ff e et qore w gfeurd
& Y TAUYH gAR 3fPuy § Aften-arret <t fRien i o Tue uRafaa gt &, S8l a8 3 & e g
o gt ugfal A st &t T Wifad ot IR Ui 3 SR wR ST IufRAfT gt off aed ag 8
o BT Y TeaTeehal IR A8l Siftg TuneTehar TR e far Srar o
frfafea vel & IR Iuds Mty & seR R e
SubQuestion No : 70

Q.70 ‘Bf’ =1 =T 3N &2

Ans X 1.9
X 2. &g
X 3.3
o 4.3

Question ID : 26433094392
Status : Answered
Chosen Option : 4

Comprehension:
1857 & T1ex shifd 7 g ot ©nfia e 8t feam o1 fs vRaad St st aa fafar= s aifeat &1 g
ISR TH=IY T, Uoh Uae fageft drend o o7efie 'Ueh g’ & =0 H fagy o el R S¥R @1 1| gty agf
T Igd 981 9 I8 ot o1 o wRa # fafvra &= 7 srerT-srenT 57 fhar o, $ik syfe endifen
AP H Y H T 'Teh AL & TU A ITh! Uga g9 e e Tehd & | IR Teh fatw Fiepfaren, anfifes ik
TTHTR i SITYRT I8 Tk 31597 o H 3TTalg heet At
frffed ueit & SR Sudh e & SuR W S
SubQuestion No : 71

Q.71 Tener & Geof # 9-91 FY 3T 87

Ans X 1. 9Rd fadeft amee & srefe am
< 2. R Hikeplaeh ¥ § Geh G H o o1l
& 3.1857 ¥ qd YRd H dichas AT
< 4.1857 T ud vRA & S1elv1-31eT Taiifhar off|

Question ID : 26433094402
Status : Answered
Chosen Option: 3
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Comprehension:
1857 <1 TTeR shifd 7 Ig ot TAfUT & g & o7 foh TRday St sreft oo fafera Irsar arfeall a1 gan
ISR TH=IY T, Uoh Uae fageft drend o arefie 'Ueh Wg’ & =0 § fagy & et 1R S¥R 8T 1| gty ggf
T Igd 981 9 I8 ot o1 o wRa 7 fafvra & 7 SsrerT-s1enT o wfear o, sik snyfae aendiften
Y & EUH T 'Yk AY' & TU A IAH] UgdH gH el e Uehd & | U¥g Teh [aRIN Tikepfclen, eMfiich TR
TTHSTR i SITLRT I8 Teh 15T o H STTalg heet ot
i weit & SR Sudh Terier & SuR W S
SubQuestion No : 72

Q.72 'TeR’ &1 T 31 g &2

Ans X 1.7 fagig
X 2. geft fagie
X 3. forem - fosle
o 4. 30 fagke

Question ID : 26433094405
Status : Answered
Chosen Option: 2

Comprehension:
1857 &l TTex shifd = g ot @nfia e gt fear o1 foh vRaa St et ae fafa s aifhat a1 g
IR T 2T, b Taiet fageft drerd o oreflie ‘Uer g’ & =0 7 fagy & TFat iR 39R @7 1| gefy gt
T Igd 951 9 I8 ot o1 o R A fafera &= 7 srenT-srenT 5 wfhar o, sk syfae denditen
AP S Y H IT'Teh AP’ h ¥U H ITh! Uga g7 e e Uehd & | TR Teh faiw Fiwpfaen, anfifes ik
AR i SITYRT I8 Gk 3157 T H 3TTaIg heet AT |
frfafed veit & S= Sud merier & SaR W S
SubQuestion No : 73

Q.73 §+ 1857 & ate URd fay & 7ot wR fohw w0 d I3 g1 u1?

Ans X 1. &7
o 2.7¢
X 3.2
X 4T

Question ID : 26433094401
Status : Answered
Chosen Option : 2
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Comprehension:
1857 &l TTex shifd 7 g at wnfia e gt feam o1 foh vRaa &Y areft aan fafv= o aifhat a1 was
ISR T T, Uoh Uae fageft drend o o7efie 'Yk g’ & ®U # oy o el R S¥R @7 1| gty agf
T Igd 981 9 I8 ot o1 o R # fafera &= 7 srerT-srenT 5 wfhar o, sik syfe endifen
AP H Y H IT'Teh AL’ & TU & ITh! UgaH g9 e ohe Uehd & | TR Teh faiw Fiwpfaren, anfifes ik
AR i SITYRT I8 Tk 3157 G H 3TTalg heet AT
frffed veit & ST Sud e & SuR R S
SubQuestion No : 74
Q.74 ‘Ti=ad’ o1 o Y &2
Ans X 1.8F
X 2. 9Ue™
X 3. ud
o 4. 98

Question ID : 26433094404
Status : Answered
Chosen Option : 4

Comprehension:
1857 <l TTex shifd = g ot wifia & gt fean o1 foh vRaad St et aen faf= wra aifrat a1 g
IR T 2T, Yk Taiet fageft drend o orefie ‘U g’ & w0 # fagy & TFat iR 39R @1 1| gefy ggf
Qo Igd 981 9 I8 i o1 o R # fafera &= 7 SrerT-senT 5 wfhar o, 3k snyfe endifen
T & ®Y 7 1 ‘Teh Y & ©0 § IR UG 6H T o Gehd &1 TR Qo RIS Fieepae, enfifen ok
TSR Y SHTYRT I Tk 3157 T H 3TTelg heat ot
frafafed ueil & S ST merier & SmuR W S
SubQuestion No : 75

Q.75 ‘3ATeg’ T T 31 &2

Ans X 1. SR e

o 2.3 9
/< 3. gy
25 4. ghud

Question ID : 26433094403
Status : Answered
Chosen Option : 2

Q.76 ‘dg T g’ dTeRd <hT kIl <RIT &2
Ans  # 1. GHRT IdHE

X 2. dfg adfa=
X 3. g adE
5 A, ATchIfeTes adHT

Question ID : 26433094438
Status : Answered
Chosen Option: 1
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Q.77 f=fafe@a d @ sia-ar o Shife &2
Ans X 1.8

o 2. T

< 3. e

< 4. Tt

Question ID : 26433094320
Status : Answered
Chosen Option : 2

Q.78 ‘=g fahmept fawiw 2rez &2
Ans X 1.7

K 2.3

o 3. 3fda%

XA

Question ID : 26433094452
Status : Answered
Chosen Option : 3

Q.79 ‘FaT 3 = &l We1a @Y a1 A IGifehd 3721 & hi9-9T IRk 87
Ans X 1. 31UIGH

X 2. gay
o 3. %

X 4. dueH

Question ID : 26433094426
Status : Answered
Chosen Option : 3

Q.80 Jahst (1) wewmg (2) T | (3) Y (4) TR Fi (5) 3T (6) 1 ¥ T arera & wh ww=T (1) iR
(2) & a1 ITRT I T TE s T gI?

Ans  #1.53,6,4
% 2.53,4,6
X 3.3,6,4,5
X 4.3,56,4

Question ID : 26433094488
Status : Answered
Chosen Option : 1
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Q.81 g (1) Hehed (2) TRt (3) eteA (4) T (5) ST (6) | VR @isa arerr | v T (1) 81 (2)
h 1€ ITRT TR BT gl shl o1 gIIT?

Ans X 1.634,5
o 2.56/43
X 3.3645
X 4.5436

Question ID : 26433094382
Status : Answered
Chosen Option : 2

Q.82 fAmfaf@a d @ dga U= H=-a18?
Ans X 1.8

X 2. wde

X 3. @

o 4.

Question ID : 26433094346
Status : Answered
Chosen Option : 4

Q.83 F=fafE@a # & sreaunor sdwr fiF-91 87
Ans  1.T

X 2.3

X 3®

X 4

Question ID : 26433094322
Status : Answered
Chosen Option : 1

Q.84 311t (1) farermera (2) & (3) Arfteres (4) o1mg (5) & (6) 1 IR @fde ara A e v (1) 3R (2) &
qTE, ATeRT T T Tl hi T gIT?

Ans X 1.4,3,56
X 2.3,6,54
o 3.3,4,56
X 4.3,56,4

Question ID : 26433094486
Status : Answered
Chosen Option : 3
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Q.85 ‘gur foheert gafaarht g2
Ans X 1.0

X 2.9

o 3. 3md

X A4 oh

Question ID : 26433094444
Status : Answered
Chosen Option: 3

Comprehension:
ST STaT SRy SR Al @ TAhRI IR fRIehst ¥ 3@ & T61 herd o ({TTel ST AT i aftr &
32 et @ 2 33t sl A WRdg gRejs &t eikait ot Igg TR UseRTRaT 3faeT™ | Tes shifdept gre
8 319 ST¢ g 9 gEfe @ i@ | 87 81! WRa géan 9 &l S1E 1’ I7eh Ihien= ARay RAfd & 39
guiq 3 9 I fohat emfat & Toh TR ot ST TR SATSTIE) T AaaTaT s feaT| Igia 39 gag
faal & TR & gouar gd Pefferdar @ o & arer &) @, TameT gt 2l i srea STt
frfafed veil & SR ST merier & SmaR W S
SubQuestion No : 86

Q.86 WRdg gRejs A fradhl srera sms?

Ans X 1. TReT SR It

o 2. @eer iR Arfe
25 3. TRRr 3R TRTST
X 4. T SR IeTfh

Question ID : 26433094506
Status : Answered
Chosen Option : 2

Comprehension:

ST STaT SATaRT R Al & TAhRI IR RISt e @ & T6l eherd o (UTel ST A=t i after &
3¢ uer @ 9 3¢t &l & vRdg gReie ol el 1 Sag IR arehIRaT Sfaerd § e shifderdt g
21 ‘319 5T¢ Ag 9€ 3@ g fawars | g1 g1l R gdan A 3t S 1’ Ik dechretie R RS & 39
guiq 3 7 S fhat qmfat & Toh TR ot IS R SATSTIET T AT ST 17| Igi— I THY i
ot & aR & gogar gd Fefferar @ forem & Try gt w@er, arem qur 2rfes it srerg St
ol uelf & IR Iud Mty & smer R e

SubQuestion No : 87
Q.87 Trexizn & Wgh ‘HAATAT Rl RIT ST &2

Ans X 1. faR¥et
o 2. &ar
X 3. grds

25 4. Ui

Question ID : 26433094503
Status : Answered
Chosen Option : 3
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Comprehension:

ST STET STATaRy 3R Il ¥ UAehRT UR fRIchot g 38 & a8 chord o fumet sroft =it <t afsr &
3% fUger 8 91 5¢f Sl 7 WRAg gReie i eial 1 Iad IR USahIRaT Sigrd # e ghifcenit e
g 319 T8 g I g@fe g R | 87 81! 9Ra géan 7 &l S 1’ I Ahiei TR [RAfd &6 39
quiq 3 9 ST fohat ymfaal & 6 TR &t 37Sd R STSIET ot Adarel o1 3T S5i4 39 98y &t
fafoa & aR & gogdr gd Fefferdar @ foram & aryr & W er, T qur 2rfh it srera St
frafafed veit & SR Sud merier & SuR W S

SubQuestion No : 88
Q.88 ‘aftar = e 3rf gidar &7
Ans X 1.2
X 2.7
o 3. T
X 4 TG

Question ID : 26433094505
Status : Answered
Chosen Option : 3

Comprehension:

ST ST8T STATaR! SR ! O UAehRI IR fRIehst e 3@ & T61 her o (TTel SO ST i aftr &
37 TUaeT 38 &1 32 ohel § WRAG 8RS &l gl T 36T MR UShIRAT 3ITeT | Ueh ShifcehiRt geT
1 '3 ST 3wg 9€ 3 Efe g fewars) &1 g1l Ra géam 7 & S|’ I el WRd fRAfd F 3w
Ui 3 7 9T fohamt el & Toh TaR ol ITfSId R SITSTET T Adarell ST ATl Sgiv 39 THY aht
faat & IR & gear gd Refferar @ foreawt & ary g @, @ara gor 2rafe $i sreg STt
frffed veil & S Sud merier & SuR W S

SubQuestion No : 89
Q.89 ‘e o FRAUTEY & foreanT widha 87
Ans X 1. foret ofk wtch
< 2. Srfden ofik Rifhes
o 3. Ed R TR
< 4. TS SR whifaert

Question ID : 26433094507
Status : Answered
Chosen Option: 3
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Comprehension:

ST STET SATaRy R Al & BRI 0 fRIchst e 38 & I8t cherw o Rumel sroft e i afvr &
3% UaeT 3 91 5¥f ol 7 WRAg gReS ol eial 1 I&d YR USRI SIgrd # Geh Shifcleht e
81 '319 51 3wg 9€ 3 Wfe g Rward) &1 g1 vRa géam 7 &l 1’ I denret R R F 3w
Ui J 7 9T fohamt el  Th TOR ol IAfSId R SITSIET T AdaTe o1 ATl S8ivt 39 THY aht
ffaat & aR & gerar ud Pefferar @ foregst & ary §) @, ara et 2rafe 6 sreg ST
frffed veit & 3= Sud merier & SmaR W S

SubQuestion No : 90
Q.90 ‘fAGHSIT HEA' T FT A 87
Ans X 1.%c e
o 2. AN H HAT
X 3. BIg kAT
X 4. STIER AT

Question ID : 26433094504
Status : Answered
Chosen Option : 2

Comprehension:

& at Oft e Ry, O afe a9, amiflies s« o3, g o1 faem &) ofk e wgsa omomy (1)
IR TSI gl Gh| §H SMaThdT 39 o1 o & foh g7 facaft sifdiepr @ T Igame o1 (2) M 9eR
& faf o= emareit ot ofR ITeh TT g1 Sih T SfR uteyy famm &r (3)___ 3| gH Fifes ofk Ut
Geoft st Y smasgendr &, foa Sei-get fi i ok (4) 1, o A AfeRdt & fog ART-
ART R & aet 7ot sraaeharsti & (5) & forg vt HTs o Tk iR SiTuTaehet & forg
To oft R T

IUh TEIeT & SR WR Frfafa usi & IR S

SubQuestion No : 91
Q.91 wrerizr & Rk T (1) & g Iugh 21eg = ghm?
Ans X 1.0¢
2. 795 h
5 3. gt
o 4

Question ID : 26433094475
Status : Answered
Chosen Option : 4
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Comprehension:

&4 Y oht e wnfdy, o aRer o=, Amflies oe s1g, gf o1 o &) ofk e 7gsa srom (1)

TR TSI &l G| g STaThdT 39 a1 h & o g1 faaft Sifdrepr & Tad= Tgans oo (2)___ 919 SR
& faf e smRarsit s ok ITch T &Y SiTSH T SfR urgyer fam a1 (3) 3| gH Tifden ik Tt
goft fremart &y smaachdr 8, fS< Je-eei &l gig ok (4) I, o 7 et & forg ARr-
ART oA & st 7O+ SraRgehdrai &6 (5) & foiq Tt TS R Toh 3R SMUTdehret & forg
T oft = gah|

ITYh TEIIRT o SR R fAmferEd usif & 3w -

SubQuestion No : 92
Q.92 rerir & =k ®I (2) 3 foig Iugh 2res o/ ghm?
Ans X 1@
X 2.
X3.g®
o 4 s

Question ID : 26433094476
Status : Answered
Chosen Option : 4

Comprehension:

&4 Y ot e wnfdy, o aRer o=, Amflies oe w1g, gfeg o1 fae &Y ofk e 7gsa arom (1)

TR @ST g G| g6 STaLTehdT 39 a1d ot § o g faaft ifderr & wads g oo (2) I HER
& faf o smRarsit s SR 3Tk W1 &Y SiTSh 9T SfR urgyer fam a1 (3) 3| gH Tifen ik Tt
goft fremart &y smaachdr 8, fSAS Je-eei & gig ok (4) I, o 7= Aiendt & forg Awr-
ART oA & et STO+Y SraRgehdrai & (5) & foiq yaftd TS e Toh 3R SMUTdehret & forg
T oft = Tah|

ITY<h TN o SR R fAmferEd usif & S JfSg-

SubQuestion No : 93
Q.93 wrerier & R wI (3) & forg Iugeh 21eg @ ghm?
Ans X 1. fR@R
25 2. SeTgenor
o 3. s

X 4. s

Question ID : 26433094477
Status : Answered
Chosen Option : 3
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Comprehension:

&4 Y Oht e @R, foae aRa o, amflies o s1g, gfeg o1 faenr &f ofk e 7gsa arom (1)

TR ST & G| gH STaTehdT 39 a1d ot § o g faaft sifder & wad= wgae oo (2) M WER
& faf e emarsit e ok 3Tk TT g Sih T ofk urgyTey famm @t (3) 3| g8 Fifacs ofiz Uit
goft frermar &y smaachd 8, fS9 Jeiv-eel & gig ok (4) I, fo=% 7 et & forg AR
ART fthee & Seet SO STTaaehdrstt & (5) & foIq gt TS ohe Toh iR STUTdahre h forg

T oft = T

ITYh TEIIT o SR W fAmfefed usi & s JfSg-

SubQuestion No : 94
Q.94 eriar & =k ®IT (4) o g Iugh 2reg o/aT ghm?
Ans X 1. fa=mar
o 2. fdam
X 3.8
5 4. gehIn

Question ID : 26433094478
Status : Answered
Chosen Option : 2

Comprehension:

&4 Y Oht e wnfdy, o aRer o, Amflies oe s1g, gfeg o1 faer &f ofk e 7gsa aom (1)

R ST g G| §H SATaThdT 39 a1d o § o g7 faft sifderr & W= e o1ae (2)___ I %8R
& faf e emarsit s ok ITch TT g Sih T ofR urgyer famm @t (3) 3| gH Fifacs ofiz qedt
goft frerart &t smaachd 8, fSe Jei-eel <t gig ok (4) &, foe v et & forg 7w
ART R & St SruT smageharait i (5)_____ & forg uaitd Hare o Teh 3R MmuTdehret & fag
To oft R T

Yk TEIIRT o SR W fAmfered usi & s -

SubQuestion No : 95
Q.95 erisr & fi=h ®I (5) & g Iugh 2res o ghm?
Ans o 1.0
X 2. wgfe
X 3.3
X 4 afy

Question ID : 26433094479
Status : Answered
Chosen Option : 1

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

Comprehension:

I T g1 (1) 1 8| et off uenr &t o g amaft /134 el Uek foreieh R gt T Sisit s
Gerdll &1 Aeh-iicnl & 3R 9 g A §AR HTH-UTH G131 a7 (2) g, fodem ag i g@=d ot suR €
g GEATSH o1 A iia TR 7 7 S gt &1 gEeet & 39 g § S ahife ol faye, aredes g e
TS ol UT SheAT Qe (3)_____ I 7T 8| 1T T THTERI ehl HUTSd e aTell Sehrgar g &
Tarelt & (4)_____ & ToR et 1 g uRgeg & Hifear craara s+ ot &, s arfaraifn e ghm
37T THTERT Bl AATAGR ST AT & &g (5)___ ST gl 8l

IWRIh Terer & SR R Ao vsi & 3w dfo-

SubQuestion No : 96
Q.96 erier & Rk wIT= (1) & AT Iugh 21eg ghm-
Ans X 1. siiEred
o 2. ifd
X 3. e
X 4.Reke

Question ID : 26433094367
Status : Answered
Chosen Option: 2

Comprehension:

AT T =T (1) 1 ¢ forell +ff epR <l T gd At ATSY Y Gek foreteh tR el ot s S
Gercll &1 Teh-iicnl & ¥R 9 g A gAR SHTH-UTH G131 a7 (2) &, fodem ag i g@=d ot s €
TG GEATeH o1 A ta TR 7 § S gt &1 gEeet o 39 g § S ahife ol fasye, Trefes g e
YIS ol U1 AT T (3) I 7T § | G Ud GHTAR] 2 U et arelt Sehrgar omg e
el & (4) F oR oeft &1 adfaT uRgea & Hifear saqamg o go 8, e sifarifs T g
ST HTIRI h ATCIGR TR AT o &1 (5) SIEGE]

Iuh Terfer & STYR R FefafEa asif & I dfSe-

SubQuestion No : 97
Q.97 eriar & Rk wIH (2) & AT Iugeh 21eg ghm-
Ans X 1. JWRUR
o 2. 3iER
X 3. 7918
X 4. @R

Question ID : 26433094368
Status : Answered
Chosen Option : 2
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Comprehension:

g g =T (1) 1 &1 Toreht +ff TenR hY g1 Gd ARt /1S9 Sl Ueh foreten TR Rl Y AT ST
Gehcll &1 dehiichl & ¥R 59 G A gAR STH-UTH Ga-137l &t (2)______ 8, fadem o & gemd @ s 8
TR TS T A TR 7 § ST gorr &1 gEret o 59 g § S ahife ol fasgea, aredes g e
a3 Y T AT Uk (3) I 71T &1 AT U AR okt SO e aTelt 3eRtsat g e
garell & (4)_____ F FoR e &1 adw uResg & HifEar cgaarg a7 Yanl &, e rfawraifzh 7 g
STST THTER] i AATER TR Al b o (5) ST @8I

Yk TEIIRT o SR R fAmfered usif & s -

SubQuestion No : 98
Q.98 rerisr & fieh ®=I (3) & foig Sugh 2res ghm-
Ans X 1.%H
X238
5 3. FEReH

o 4 T

Question ID : 26433094369
Status : Answered
Chosen Option: 4

Comprehension:

AT I =T (1) &1 ¢ fohell +ff ehR <hl a1 G At A1SY Y Geh fereteh wR ehg! T st S
Henelt §1 deh-iichl & YR 39 G § AR STTH-UTH ga-nafi & (2)______ &, fodem ag i go=md ot s &
TR G 1 A TR 7 § ST gt &1 gEeret o 39 g § S ahife ol fagaa, aredes g e
G137 Y T AT Ueh (3)___ & 7T &1 AT U THTERT Bt G et arelt geprsar oimg i
TaTell & (4) F o 37t &1 acfar uRgeg & HifEar e s+ ot &, e s e g
37T TATIRI Bl AYTAGR FHTh AT b &g (5)___ ST @l 81

ITYh TN o SR R fAmferEa usif & s JfSg-

SubQuestion No : 99
Q.99 erier & ek ®IT (4) & forg Iugh 2res ghm-
Ans X 1. feral
o 2. TR
X 3 W
X 4.9

Question ID : 26433094370
Status : Answered
Chosen Option : 2
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Comprehension:

FIAA G g1 (1) 1 8| fRelt oft uenr Y e ud arft 7134 el Uek foreteh 0 gt ofF Sisit s
Gercll &1 Aeh-iicnl & 3R 9 g A §AR SHTH-UTH G131 a7 (2) 2, fadem g i gE=d ot s €
g Garef o1 fseit R e & 57 Rt &1 gEneil & 39 g @ I3 it Y R, anefes vd g
TS ol UT heAT Ueh (3)____ 911 T & | AT G THTART bt THT vt areht geprgar oy e
el & (4) F or areft &1 adaT uRgea & Hifear saqarg o go 8, e st 7 g
TS FHTER] ! AHIRER SRR Al & ot (5) BRG]

IRIh TMerer & SR R FfafEa usi & 3w ffee-

SubQuestion No : 100
Q.100 werisr & Rk I (5) & forg Iugsh 2res ghm-
Ans X 1."e

X 2. e
X 3. @l
o 4.9

Question ID : 26433094371
Status : Answered
Chosen Option : 4

Section : General English

Q1 Choose the correct antonym for the given word.
mitigate
Ans X 1. sedate

« 2. agitate

X 3. placate

X 4. abate

Question ID : 26433094665
Status : Answered
Chosen Option : 2
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Q.2 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. Rising temperatures and drought conditions have caused serious problems for human populations all over the
world.

B. One area particularly affected by drought has been the central Spanish province of Caceres, where water levels in
the Valdecanas reservoir have dropped nearly 30%,

C. Some dramatic changes in landscape brought on by lowering water levels, though, have also led to a number of
notable discoveries.

D. As aresult, a fascinating site from near pre-history has been recovered here, as per Reuters.

Ans X' 1. DBAC
« 2. ACBD
<3 ADCB
x4 BDAC

Question ID : 26433094594
Status : Answered
Chosen Option : 2

@3 Fill in the blank with the most appropriate word.

The refugees to us for help.

Ans

X 1. appeased
X 2. desired

X 3. demanded
« 4. appealed

Question ID : 26433094653
Status : Answered
Chosen Option : 4

Q.4 Aurange the sentences in the correct sequence to form a coherent paragraph.

A. Their work is both unrecorded and largely unrecognised, even though in some parts of the world they
handle as much as 20% of all waste.

B. Among those suffering from the global recession are millions of workers, who are not even included in
the official statistics

C. In the developed countries they are the preferred ones since they recycle waste much more cheaply and
efficiently than government or private corporations can.

D. These are the trash pickers. sorters and traders who extricate paper, cardboard and plastics from garbage
heaps and prepare them for reuse.

Ans X1 BCAD
+ 2. BDAC
X< 3. DACB
X 4 DCAB

Question ID : 26433094703
Status : Answered
Chosen Option : 2
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Q5 select the correct active form of the given sentence.

It should be understood by people that it is not always possible to win.
Ans X 1.

People need to understand that winning is not always possible.
2

People should understand that it is not always possible to win.
X 3.

People have to understand that it was not always possible to win.

X 4. People can understand that it is not always possible to win.

Question ID : 26433094530
Status : Answered
Chosen Option : 2

@6 Select the correct active voice for the given sentence.

Paddy will have been sown by the farmers before the rains.
Ans X1. The farmers will be sowing the paddy before the rains.
X 2. The farmers would sow the paddy before the rains.

+ 3. The farmers will have sown the paddy before the rains.

X 4. The farmers will sow the paddy before the rains.

Question ID : 26433094635
Status : Answered
Chosen Option: 3

Q7 Choose the correct synonym for the given word.

squalor
Ans X 1. treachery
X 2. splendour
2 3. luxury

« 4. filthiness

Question ID : 26433094659
Status : Not Answered
Chosen Option : --
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Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a
meaningful and coherent paragraph.
P. Its role in human nutrition was not fully known.
Q. This has resulted in a better appreciation of the role of fibrous food in human health.
R. Later research has thrown light on many other ingredients that are digested by man and have more fibres.

S. In early days, people only knew that this fibre prevented constipation.
Ans x 1. RSQP
X 2. QRSP
< 3. PSQR
« 4. SPRQ

Question ID : 26433094697
Status : Answered
Chosen Option : 4

Q.9 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

One of my friends have a house in Shimla.

Ans

X< 1. One of my

X 2. in Shimla.

+ 3. friends have a house
X 4. No error

Question ID : 26433094518
Status : Answered
Chosen Option : 3

Q.10 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. We have spent over 4000 hours guiding over the past 8 years.

B. The Pilanesberg National Park in South Africa is one of the best wildlife experiences in terms of the abundance
of wildlife that can be found there.

C. We've witnessed the gore and bloodshed of a lion taking down an impala.

D. And yes we have basically seen it all.

Ans 1. BADC
< 2. BCDA
<3 ACBD
X 4 CABD

Question ID : 26433094598
Status : Answered
Chosen Option : 1
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Q@11 Select the correct passive voice for the given sentence.

How can you light a fire if you have no matches?
Ans X1, How is a fire being lit if you have no matches?
X 2. How has a fire been lit if you have no matches?
X 3. How will a fire be lit if you have no matches?

+ 4 How can a fire be lit if you have no matches?

Question ID : 26433094641
Status : Answered
Chosen Option : 4

Q.12 Aprange the sentences in the correct sequence to form a coherent paragraph.

A. The complex had a huge tree growing right in the centre of the compound.

B. One day a builder decided to chop it off and build a swimming pool in its place.
C. The residents hung swings on it, fed the birds and squirrels that resided in it.

D. Several families lived in a posh residential complex.

Ans 1. DACB
X< 2. DABC
< 3. CDBA
<4 ABDC

Question ID : 26433094699
Status : Answered
Chosen Option: 1

Q13 gelect the most appropriate option to fill in the blank.

Both the parties willbe  benefitted by this deal in the long run.
Ans 1 mutually

X 2. agreeably

X 3. respectively

# 4. unilaterally

Question ID : 26433094550
Status : Answered
Chosen Option : 1
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Q.14 Tdentify the segment in the sentence which contains the grammatical error.

It is her knowledge of computers that interest me.

Ans X 1. It is her
X 2. computers that

+ 3. interest me.
X 4. knowledge of

Question ID : 26433094623
Status : Answered
Chosen Option : 3

Q.15 Substitute the underlined segment with the most appropriate option. If no substitution is required, select ‘No

substitution’.

Eight African cheetahs are freely to reach Kuno Palpur National Park on 17 September.
Ans X 1. are fairly
# 2. No substitution

# 3. are exactly

o 4. are likely

Question ID : 26433094707
Status : Answered
Chosen Option : 4

Q16 gelect the most appropriate indirect form of the given sentence.

Mother said to Shivani, “Don’t be nervous. You will be alright.”

Ans X 1.
Mother told Shivani that she should not be nervous and that she will be alright.

X< 2
Mother asked Shivani why she was nervous and told her that she would be alright.

o 3.
Mother told Shivani not to be nervous and comforted her by saying that she would be alright.
< 4

Mother warned Shivani not to be nervous and said that you will be alright.

Question ID : 26433094544
Status : Answered
Chosen Option : 3
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Q17 Select the correct indirect speech for the given sentence.

He said, “Have I acted wisely?”
Ans X1 He asked if he has acted wisely.
X 2. He asked if he acted wisely.
« 3. He asked if he had acted wisely.

# 4. He asked that if he had acted wisely.

Question ID : 26433094647
Status : Answered
Chosen Option : 3

Q.18 1dentify the segment in the sentence which contains the grammatical error.

He wished he listened to his mother’s advice.
Ans X' 1. He wished

« 2. he listened

# 3. to his

X 4. mother’s advice.

Question ID : 26433094627
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate option to fill in the blank.

Before going on a trip, I always prepare an of things I would need there.

Ans 1. inventory

X 2. proposal
X 3. itinerary
X 4. schedule

Question ID : 26433094548
Status : Answered
Chosen Option : 1
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Q20 gelect the most appropriate antonym of the given word.

BLAME

Ans X 1. complain
« 2. compliment
X3 criticize

#< 4 condemn

Question ID : 26433094558
Status : Answered
Chosen Option : 2

Q21 Select the most appropriate idiom to fill in the blank.

I have oftenseenher  her classmates over small issues.
Ans 1. picking a quarrel with

X 2. taking time out

X 3. picking her way to

X 4. taking stock of

Question ID : 26433094566
Status : Answered
Chosen Option: 1

Q22 gelect the correct passive form of the given sentence.

You always keep me waiting.

Ans 1. T am always kept waiting by you.
X 2. T have always been kept waiting by you.
# 3. Tam always being kept waiting by you.

X 4. You are always kept waiting by me.

Question ID : 26433094536
Status : Answered
Chosen Option: 1
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Q23 gelect the correct indirect speech for the given sentence.

He will say, “I am ready for school.”
Ans X 1. He says that I am ready for school.
# 2. He will say that he was ready for school.
+ 3. He will say that he is ready for school.

X 4. He said that he was ready for school.

Question ID : 26433094649
Status : Answered
Chosen Option : 3

Q24 gelect the correct active form of the given sentence.

My grandfather built this water-tank in 1950.
Ans X 1. This water-tank has been built by my grandfather in 1950.
« 2. This water-tank was built by my grandfather in 1950.

X 3. This water-tank was being built by my grandfather in 1950.

# 4. My grandfather had been building this water-tank in 1950.

Question ID : 26433094532
Status : Answered
Chosen Option : 2

Q25 gelect the most appropriate direct form of the given sentence.

Maya asked Shashi if she was enjoying her stay in Paris.
Ans o 1.

Maya said to Shashi. “Are you enjoying your stay in Paris?”

# 2. Maya said to Shashi. *Did you enjoy your stay in Paris?”
X 3.

Maya said to Shashi. *You have been enjoving your stay in Paris.”

# 4. Maya said to Shashi. *She was enjoying her stay in Paris.”

Question ID : 26433094540
Status : Answered
Chosen Option : 1
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Q26 Select the most appropriate synonym of the given word.

INCIDENT
Ans X 1. extent
¥ 2. event
X 3. facet
< 4. aspect

Question ID : 26433094552
Status : Answered
Chosen Option : 2

Q27 Fill in the blank with the most appropriate word.

Modern man has more  and less time.
Ans 1. amenities

X 2. elevations

X 3. renovations

X 4 faculties

Question ID : 26433094655
Status : Not Answered
Chosen Option : --

Q.28 Substitute the underlined segment with the most appropriate option. If no substitution is required, select “No
substitution’.

India’s rice exports rised sharply in the last quarter.

Ans X' 1. No substitution
& 2. rose

# 3. risen
< 4 have rose

Question ID : 26433094705
Status : Answered
Chosen Option : 4
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Q.29 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

I read a novel by Sydney Sheldon within my illness.
Ans 1. Iread a novel

X 2. No error

« 3. within my illness.

X 4. by Sydney Sheldon

Question ID : 26433094520
Status : Answered
Chosen Option : 3

Q.30 select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

We are going for a swim in the Ganga if you like it or not.

Ans

#< 1. We are going
« 2. if you like it or not.
# 3. for a swim in the Ganga

< 4. No error

Question ID : 26433094524
Status : Answered
Chosen Option : 2

@31 Choose the correct synonym for the given word.

cordial

Ans X 1. grateful
X 2. gross

« 3. gracious

X 4. greedy

Question ID : 26433094657
Status : Answered
Chosen Option : 1
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Q32 gelect the correct passive voice for the given sentence.

She invited me for the party.

Ans X 1. T have invited her for the party.
« 2. Tam inviting her for the party.
« 3. I was invited for the party.
# 4. Tam invited for the party.

Question ID : 26433094637
Status : Answered
Chosen Option : 3

Q33 gelect the correct indirect speech for the given sentence.
She said to us, “I am hungry. Let’s eat something.”

Ans X 1.
She said that I am hungry and suggested that we should eat something.
x 2
She said that she was hungry and suggested us that they should eat something.
< 3.
She said that she was hungry and suggested that let’s eat something.
& 4

She said that she was hungry and suggested that we should eat something.

Question ID : 26433094651
Status : Answered
Chosen Option : 4

Q34 gelect the correct meaning of the given idiom.

go through a rough patch

Ans X' 1. to meet with an accident

< 2. to be lost

« 3. to experience problems
# 4. to take a bad road

Question ID : 26433094669
Status : Answered
Chosen Option : 3
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Q.35 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select ‘no substitution required”.

She got all wet even though she was carryving an umbrella.

Ans X 1. even if

X 2. because

+ 3. no substitution required

< 4 incase

Question ID : 26433094602
Status : Answered
Chosen Option: 3

Q36 gelect the most appropriate synonym of the given word.

RUSHED
« 1. pressed

X 2. crushed
X 3. packed

X 4 slowed

Ans

Question ID : 26433094554
Status : Answered
Chosen Option : 1

Q.37 Choose the most appropriate option to arrange the sentences in the correct order to form a meaningful paragraph. The

first and the last sentences (S1/S6) have been given.

S1. Going to the Sun Road is one of Glacier National Park’s biggest attractions, and is reputedly one of the most scenic

drives in the world.

A. There are plenty of places along the way to pull over and appreciate the view.

B. Its 50-mile length is fully paved but with twisting turns and two narrow lanes, requires careful driving.
C. Grizzly bears, bighorn sheep, and mountain goats can also be spotted from the road.

D. It takes around two hours to drive the full route without stopping.

S6. Parts of the road are closed throughout the winter months for safety as it is exceptionally difficult to snowplow
there.

Ans 1. BDAC
X2 ACBD
~< 3. DBCA
<4 BACD

Question ID : 26433094592
Status : Not Answered
Chosen Option : --

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

@38 gelect the most appropriate synonym of the given word.

PREROGATIVE
Ans 1 privilege
X 2. liability

X 3. obligation
X 4. duty

Question ID : 26433094556
Status : Not Answered
Chosen Option : --

@39 gelect the correct direct speech for the given sentence.

Mona said to Preeti, “I am going to Kolkata next week.”
Ans X1, Mona told Preeti that I was going to Kolkata next week.
X 2. Mona told Preeti that she was going to Kolkata next week.

& 3.
Mona told Preeti that she was going to Kolkata the following week.

x 4.
Mona told Preeti that I am going to Kolkata the following week.

Question ID : 26433094643
Status : Answered
Chosen Option: 3

Q40 T1dentify the segment in the sentence which contains the grammatical error.

Not only did he sell his house but as well squandered his father’s money:.

Ans X 1. sell his house
« 2. but as well
X 3. Not only did he

X 4. squandered his father’s money.

Question ID : 26433094629
Status : Answered
Chosen Option: 2
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Q41 Select the most appropriate meaning of the given idiom.

stand your ground
Ans X 1. stay at one place
« 2. refuse to change your opinion
# 3. be in a comfortable situation

X 4. support your friends

Question ID : 26433094564
Status : Answered
Chosen Option : 2

Q42 Select the passive active form of the given sentence.

The school not only fined him but also expelled him for misbehavior.
Ans X 1.
He has not only been fined by the school but has also expelled for misbehavior.
o 2.
He was not only fined by the school but also expelled for misbehavior.
X 3.
He will not only be fined by the school but will also be expelled for misbehavior.
X 4
He is not only fined by the school but also expelled for misbehavior.

Question ID : 26433094534
Status : Answered
Chosen Option: 2

Q43 gelect the most appropriate indirect form of the given sentence.

Mohan said, “Rakesh always means what he says.”
AnsX1. Mohan told that Rakesh always means what he says.
# 2. Mohan said that Rakesh always means what he said.
« 3. Mohan said that Rakesh always meant what he says.

+ 4. Mohan said that Rakesh always means what he says.

Question ID : 26433094538
Status : Answered
Chosen Option : 3
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Q.44 select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘no substitution required’.

Avika was delighting from the gift you brought for her.

Ans X1. no substitution required

# 2. has delighted about
X 3. is delighted from
« 4. was delighted with

Question ID : 26433094600
Status : Answered
Chosen Option : 4

Q45 Choose the correct antonym for the given word.

faint

Ans X1 hazy
< 2 dull
+ 3. firm
X 4. dim

Question ID : 26433094663
Status : Answered
Chosen Option: 3

Q46 gelect the correct active form of the given sentence.

One to one mentorship is provided to the students by our Academy.
Ans X 1.
Our Academy has provided one to one mentorship to the students.
x 2
Our students are providing one to one mentorship to the Academy.
3
Our Academy provides one to one mentorship to the students.
xa
Our Academy is providing one to one mentorship to the students.

Question ID : 26433094528
Status : Answered
Chosen Option: 3

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

Q47 1dentify the segment in the sentence which contains the grammatical error.

Your sister will look after your son in your absence, isn’t it?
Ans @1 isn’t it?

X 2. look after your son

X 3. in your absence,

< 4 Your sister will

Question ID : 26433094625
Status : Answered
Chosen Option: 1

Q.48 Arrange the sentences A-D in the correct sequence to form a coherent paragraph. S1 and $6 are the first and last

sentences.
S1 The Trojan War is one of the most famous wars in history.

A. What may not be familiar, however, is the story of how the war began.
B. All of the gods and goddesses had been invited to the wedding celebration in Troy except Eris, goddess of discord.
C. It is well known for the 10-year duration, for the heroism of a number of legendary characters, and for the Trojan

horse.
D. According to Greek myth, the strife between the Trojans and the Greeks started at the wedding of Peleus and Thetis.

$6 To take revenge on those who had slighted her, Eris decided to cause a skirmish.
Ans 1. CADB
< 2. ABDC
X3 ADCB
< 4 CDBA

Question ID : 26433094695
Status : Answered
Chosen Option: 1

Q49 gelect the correct active voice for the given sentence.

The job may be done by you.
Ans 1. You might have done the job.
# 2. You may be doing the job.
+ 3. You may do the job.
X 4. You might do the job.

Question ID : 26433094633
Status : Answered
Chosen Option : 3
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@50 gelect the most appropriate indirect form of the given sentence.

Father said, “They are late for the train.”
Ans 1. Father told that they are late for the train.
# 2. Father said that they are late for the train.
« 3. Father said that they were late for the train.

# 4. Father told that they were late for the train.

Question ID : 26433094542
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,
eyes. The moment that moved him so deeply was
the King." The words are being chanted everywhere

SubQuestion No : 51

Select the most appropriate option to fill in the blank
No. 1.

Ans X1 tick

X< 2. minute

Q.51

< 3. second
« 4 moment

Question ID : 26433094579
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

being

SubQuestion No : 52

Q52 Select the most appropriate option to fill in the blank
No. 2.

Ans X 1. become

+ 2. became

X 3. to becoming

X< 4. becomes

Question ID : 26433094580
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.___he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glisteningin 9. ______ eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 53

Q53 Select the most appropriate option to fill in the blank
No. 3.

Ans X 1. minor
X 2. slight
+ 3. major

X 4. petty

Question ID : 26433094581
Status : Answered
Chosen Option: 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public

6. after his official proclamation.
Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

eyes. The moment that moved him so deeply was
the King." The words are being chanted everywhere

you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

SubQuestion No : 54

Q54 Select the most appropriate option to fill in the blank
No. 4.

Ans 1. understand
X 2. know
2 3. remember
X 4 recall

Question ID : 26433094582
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.____he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 55
Q55 Select the most appropriate option to fill in the blank
No. 5.
Ans 1. appeared
X 2. appear
X 3. appears
X 4. appearing

Question ID : 26433094583
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glistening in 9. eyes. The moment that moved him so deeply was

when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 56

Q56 Select the most appropriate option to fill in the blank
No. 6.

Ans 7 1. appearances
X 2. attendances
X< 3. arrivals
X 4. advents

Question ID : 26433094584
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.______he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glisteningin 9. ______ eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 57

Q57 Select the most appropriate option to fill in the blank
No. 7.

Ans 1. after
X 2. when
X 3. before
# 4 until

Question ID : 26433094585
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,

eyes. The moment that moved him so deeply was

the King." The words are being chanted everywhere

SubQuestion No : 58

Q58 Select the most appropriate option to fill in the blank
No. 8.

Ans 1. composed

& 2. repressed

< 3. stressed

X 4. quieted

Question ID : 26433094586
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

as ever, if you looked closely,
eyes. The moment that moved him so deeply was
the King." The words are being chanted everywhere

SubQuestion No : 59
Q59 Select the most appropriate option to fill in the blank
No. 9.
Ans X 1. one’s
X 2. their
X 3. him
« 4 his

Question ID : 26433094587
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glistening in 9. eyes. The moment that moved him so deeply was

when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 60

Q60 Select the most appropriate option to fill in the blank
No. 10.

Ans 1. Save
X 2. Defend
X 3. Rescue

< 4. Liberate

Question ID : 26433094588
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21
April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 61

Q61 Select the most appropriate option to fill in blank’

No.l.

Ans X 1. marked
# 2. scheduled
& 3. prepared

« 4 foreseen

Question ID : 26433094684
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 62

Q62 Select the most appropriate option to fill in blank

No.2.
Ans X1 retired
X 2. resigned

< 3. abstained
+ 4. abdicated

Question ID : 26433094685
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) _____ she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 63

Q63 Select the most appropriate option to fill in blank
No.3.

Ans X1 holder
X 2. master
« 3. heir
X 4. payee

Question ID : 26433094686
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) ______ she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 64

Q64 Select the most appropriate option to fill in blank
No.4.

Ans X1 of
o 2. at
<3 by
< 4 on

Question ID : 26433094687
Status : Answered
Chosen Option: 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 65

Q65 Select the most appropriate option to fill in blank
No.5.

Ans X 1. was spending

X 2. spend

« 3. spent

X 4. spends

Question ID : 26433094688
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 66

Q66 Select the most appropriate option to fill in blank
No.b.

Ans X 1. denied
# 2. returned
< 3. abandoned
« 4. rejected

Question ID : 26433094689
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 67

Q67 Select the most appropriate option to fill in blank
No.7.

X 1. explain

X 2. identify

Ans

« 3. appreciate

# 4. imagine

Question ID : 26433094690
Status : Answered
Chosen Option: 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21
April 1926.

Few could have (1)

she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.
Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.
After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 68

Q68 Select the most appropriate option to fill in blank
No.8.

Ans X 1. serenity
& 2. prosperity
« 3. adversity

X 4. simplicity

Question ID : 26433094691
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21
April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 69

Q6% Select the most appropriate option to fill in blank
No.9.

Ans X' 1. reviewed

« 2. exchanged
X 3. replaced

X 4. compared

Question ID : 26433094692
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 70
Q70 Select the most appropriate option to fill in blank
No.10.

Ans 1. blossomed
# 2. accomplished
< 3. shriveled
X 4. exploded

Question ID : 26433094693
Status : Answered
Chosen Option : 1

Q.71 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. Mohenjo Daro is an ancient civilization in the heart of Pakistan that cropped up on the Indus river 4,500 years
ago.

B. It was discovered in the 1920s after mysteriously disappearing 4,000 years ago. according to National
Geographic.

C. The immaculately planned city, with endless rows of baked brick walls, was considered the "first great urban
center" of the Indus Valley civilization and had complex drainage systems to address ancient floods.

D. Remnants of the city include bronze statues, pottery and a pool called the Great Bath.

Ans X' 1. BADC
« 2. ABDC
~< 3. CDAB
X4 ACBD

Question ID : 26433094596
Status : Answered
Chosen Option : 4
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Q72 gelect the correct meaning of the given idiom.

wear someone out
Ans X 1. to boast

+ 2. to exhaust

X 3. to ridicule

X 4. to pretend

Question ID : 26433094667
Status : Answered
Chosen Option : 4

Q73 gelect the correct active voice for the given sentence.
Is too much being taken for granted?
Ans X 1. Have they taken too much for granted?

« 2. Are they taking too much for granted?

X 3. Did they take too much for granted?

X 4. Do they take too much for granted?

Question ID : 26433094636
Status : Answered
Chosen Option : 2

Q74 Select the most appropriate indirect form of the given sentence.

Mrs Kapoor said to Bhawna, “Put these woollens in the sun today.”

Ans X 1.
Mors Kapoor told Bhawna that put these woollens in the sun today.

X2
Mors Kapoor told Bhawna to put these woolens in the sun that day.

x< 3.
Mrs Kapoor told Bhawna that yvou should put those woollens in the sun that day.

& 4
Mrs Kapoor told Bhawna to put those woollens in the sun that day.

Question ID : 26433094546
Status : Answered
Chosen Option : 4
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Q75 Identify the segment in the sentence which contains a grammatical error.

If T were a cartoonist, I have drawn cartoons of all my friends.
Ans X 1. cartoons of
+ 2. T have drawn
X 3. If I were

X 4. all my friends.

Question ID : 26433094631
Status : Answered
Chosen Option : 2

Q76 gSelect the option that completes the given idiom correctly.

A bird in hand is worth

Ans  X'1. some in the tree

X 2. two in the ground
+ 3. two in the bush

# 4. many in the forest

Question ID : 26433094562
Status : Answered
Chosen Option: 3

Q.77 Identify the segment in the sentence which contains a grammatical error. If there is no error, then select the option 'No
error’.

Jawaharlal Nehru was a scholar as well a statesman.

Ans X 1. No error
« 2. as well a statesman
& 3. Jawaharlal Nehru

# 4. wvas a scholar

Question ID : 26433094526
Status : Answered
Chosen Option : 2
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Q78 (Choose the correct synonym for the given word.

threaten

Ans & 1. intimidate
X 2. alleviate
X 3. adjudicate

X 4 commend

Question ID : 26433094661
Status : Answered
Chosen Option : 1

Q79 gelect the correct passive voice for the given sentence.

Let her lead the team.
Ans 1. Let the team be led by her.

X 2. Let her team lead her.
# 3. The team should be led by her.

# 4. She should have led the team.

Question ID : 26433094639
Status : Answered
Chosen Option : 1

Q80 gelect the most appropriate antonym of the given word.

COGENT
Ans & 1. impotent

X 2. compelling
X 3. persuasive

< 4. forceful

Question ID : 26433094560
Status : Not Answered

Chosen Option : --
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Q.81 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

My brother has been waiting for his placement since two months.
Ans X 1. No error
X 2. for his placement

# 3. My brother has been waiting

" 4. since two months.

Question ID : 26433094522
Status : Answered
Chosen Option : 4

@82 gelect the correct meaning of the given idiom.

with a fine tooth comb
Ans 1 to examine in great detail
< 2. to watch from a distance
X 3. to ignore someone’s faults

# 4. to win by a huge margin

Question ID : 26433094671
Status : Answered
Chosen Option : 1

Q.83 Choose the most appropriate option to arrange the sentences in the correct order to form a meaningful paragraph. The
first and the last sentences (S1/S6) have been given.

S1. Aman and a young teenage boy checked into a hotel in Delhi and were shown to their room.

A. The staff again noticed that the two guests were very quiet, and that the boy seemed uninterested in his food.
B. The receptionist noted the quiet manner of the guests and the pale appearance of the boy.
C. He didn’t want to eat anything.

D. Later, the man and boy went to have their dinner at the restaurant.

S6. After having their dinner, the boy went to his room and the man went to the receptionist and asked her to let him
meet the manager.

Ans X 1. DBAC
<2 ABCD
« 3. BDAC
#< 4 CABD

Question ID : 26433094590
Status : Answered
Chosen Option : 1
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Q84 gelect the correct direct speech for the given sentence.

She exclaimed with wonder that it was a wonderful piece of art.
Ans X 1. She said, “It was a wonderful piece of art.”
X 2. She said, *“What a wonderful piece of art it was?”
« 3. She said, “Wow! What a wonderful piece of art.”

# 4. She said, *Alas! A wonderful piece of art.”

Question ID : 26433094645
Status : Answered
Chosen Option: 3

Q.85 Arrange the sentences in the correct sequence to form a coherent paragraph.

A. only 10% of global gold deposits contain sufficient gold to justify further development.
B. The likelihood of a discovery leading to a mine being developed is very low.
C. It requires significant time, financial resources and expertise in many disciplines.

D. Gold mine exploration is challenging and complex.
Ans 1. DCBA

< 2. BDAC

<3 ABCD

< 4. DABC

Question ID : 26433094701
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 86
Q86 wWhat kind of a passage is it?

Ans X 1. a magazine article

« 2. a news item
/< 3. a student’s notes

X 4. a survey report

Question ID : 26433094617
Status : Answered
Chosen Option : 4

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 87
Q87 Which of the following is NOT necessary to grow
a micro forest?
Ans X 1. Eight to nine months of care of the planted saplings
x 2. Planting three or four varieties of saplings in a fairly
dense manner
+ 3. Arable land and sufficient rainfall

# 4. Native varieties of saplings adapted to local conditions

Question ID : 26433094620
Status : Answered
Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 88

Q.88 The micro forest project was started in Fazilka district
mainly because:

Ans X 1. the district had arable land available for the forest
X 2. the residents of the district had a sense of belongingness

the district administration wanted to utilize
the unused land in the village

« 4. the district had the lowest green cover in Punjab

Question ID : 26433094621
Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it," said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 89

Q89 The Miyawaki method of planting micro forest
was designed by:

Ans 1. An officer from the district administration

< 2. the scientists of the Forest Research Institute

« 3. A Japanese sclentist

X 4. the villagers of Kuharianwali village

Question ID : 26433094619
Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 90
Q90 YWhat is the passage about?

Ans X 1. Benefits of micro forests

# 2. The Mivawaki method
+ 3. Micro forest project in a Punjab village

X 4. The Forests in Punjab

Question ID : 26433094618
Status : Answered
Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETs) - do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 91

Q91 After reading the passage one can infer that it is:

Ans % 1. a survey report
X 2. a Niti Aayog report
X 3. amagazine article

+ 4. anews item about a Niti Aayog report

Question ID : 26433094605
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 92

Q92 “feling the nation’s economy and transportation emissions”

Here the word ‘fueling’ means:
Ans X 1. servicing
« 2. Inciting
X 3. filling up
X 4. depleting

Question ID : 26433094609
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 93
Q93 The passage is mainly about:

Ans

X 1. India’s present day truck market

« 2. Future of India’s truck market
/< 3. India’s truck market
X< 4. Loans for Zero emission trucks

Question ID : 26433094606
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 94

Q94 By 2050, the number of trucks is expected to be:

Ans X 1. 4 million
« 2. 17 million
/3. 4.6 billion
# 4. 9.6 million

Question ID : 26433094608
Status : Answered
Chosen Option : 2

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papers in Hindi and English

Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations,” it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 95

Q95 What has NOT been suggested by the Niti Aayog report
as a financial solution for financing Zero Emission trucks?

Ans X1 alternative credit evaluations

X 2. better-informed depreciation criteria
« 3. tailored loan products

« 4. greater tax benefits

Question ID : 26433094607
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 96

Q96 According to the passage, the most effective tool of

persuasion is
Ans pathos, because human beings are most swayed by

- emotions

ethos, because vou cannot persuade an audience that

2.
x does not trust you

+ 3. a combination of ethos, logos and pathos

X 4. logos, because it can also be used to build ethos

Question ID : 26433094719
Status : Answered
Chosen Option: 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 97

Q97 1 ogos makes use of:

Ans X 1. emotions and feelings
X 2. trust and sincerity

& 3. brand commercials
« 4 facts and statistics

Question ID : 26433094716
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 98

Q98 Select the correct synonym of
credible

Ans X 1. interesting

X 2. effective

+ 3. dependable

< 4. terrible

Question ID : 26433094720
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 99
Q99 The passage talks of the art of:

Ans X 1. gelection

X 2. connection

« 3. persuasion

X< 4. oration

Question ID : 26433094718
Status : Answered
Chosen Option: 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 100
Q100 wwhich of the following is NOT true?

Ans 1. Ethos can build logos.
X 2. Aristotle has defined the tools of persuasion.
X 3. Evoking pity can help charities.

X 4. You can be persuaded by a person whom you trust.

Question ID : 26433094717
Status : Answered
Chosen Option : 1
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